Terrestrial laser
0 beloy, :

e

R acas}lrement technique
" doten froulre millimeter-level
aros M the Surrounding

b ra ld .
periodical piq, automatic gpd

importan “Stimates of many
an
ores
attributeg. t S VenbeR
3. It meagy
res the i
three Surrounding

-dimensional (3D) Space.

4, It is a satellite-based technique
that €nsures precise standard
surveys, .

Which of the above

are true ?

0 1, 2and 3
(b) 1,3 and4
(¢) 2,3and4
(d 1,2and4

given statements

Read the following and choose the
correct statement(s) :

1. The Pacific nation of Palau
became the first country to ban
“Coral reef-toxic” sunscreens.

2.  Chemicals like oxybenzone and
octinoxate that are present in
most of the sunscreens, M

?0 UV light and are thus harmful to
the Corals.

Choose the correct option :
W)Iﬂy 1
(b) Only 2
Both 1 and 2
(d) Neither 1 nor 2

e TE
AU & 339 o hEhfes 3
e fergrg yus 99 Faet 3 |

2. fou a@t HISEUTs TF AEAt @
g ¥ 37, ASONG3 w3 AW
gt mieHs margt 3 |

8. feg nmum fis Wit (331 &f &
et T

4. feg Quafs 3 wofss a3l 9
ﬁ@f‘?}?ﬂ?‘éﬁs%@w;’?mﬂﬁ
TR T |

83 fed foroz aws At ¥ 2

(@ 1,2n33
(b) 1,303 4
() 2,303 4
d 1,234

feres & ug w3 At qus g3 -

1. ﬂﬁﬁamw@méﬂ
gl fam 3 “Sow de wet
W”W%ﬁam
J |

2. gyt ASAISG feg
“ ﬂgs )){g‘ - ﬂ\ r:_

<99 FAeE fige 97 95 7 g,
IS g2 I |

A feaay g3

(a) o=® 1

(b) o=H 2

€ 1m3 28

d & 1n3 32

D-2)
Paper | !



3. Read the following and choose the | 3.
correct statement(s) :
Statement I :
The Himachal Pradesh State
Government is to develop India’s
first Snow Leopard Conservation
Centre of India. The Centre is to be
developed by the Himachal

Pradesh Forest Department and
the United Nations Development

Programme (UNDP).

Statement 11 :
Global Snow Leopard and
Ecosystem Protection Programme
(GSLEP) is an inter-governmental
alliance of all 12 snow leopard

range countries.
Choose the correct option :

t)af)‘ Both statements I and II are
correct

(b) Statement I is correct
(c) Statement II is correct
(d) None of the above 4

4. The symbol of Indian ecomark is
Earthen pitcher

(b) Straw basket

(¢c) Earthen lamp

(d) Bamboo pot

5. Which among the following statements a
is/are correct about the Palas %

1. The Palas were ardent followers
of J;aglism.

2. The Palas founded the
Oddantapuri  University from
where the missionaries went to
Tibet to spread Jainism.

Select the correct answer using the

code given below :

(a) Onlyl

(b) Only 2

Lt/ Both 1 and 2

(d) Neither 1 nor 2

Paper | (D-3)

FG5 1 : IS Bt o g
uﬁ%?’ YR FIwg FeI @
L HS ﬁW@U’dB’ (Snow
?Opard)améﬂﬁﬁ‘aﬁfeafﬂ?!
JI | g Feg fprow yRH ©

-

FIARATSR) A9 12 T8
f58UTZ (Snow Leopard) 37 er

o nf3T-AIa<t AIS T |
Adt feamy ge ¢
(a) @S IN3 I &< A I&
(b) E5 1A I
(¢) &85 IIASTI
d) B3 fev o=t & &t
grggt feaHaa v ySia J

(a) THST T w3 (Earthen pitcher)
(b) EH o 2ot (Straw basket)
(¢c) fitet e €= (Earthen lamp)
d) SH € IHS (Bamboo pot)

Pos feg umr Irfort g9 fads 66

At 3/08 7

1. uE g 3 WS € AYS nigure!
A& |

9. uw afwt  B gg3rydt
fepefeforman & I9o CiE]]
g fiEadt T W3 ¥ F T
393 I ae |

(a) O<® 1

(b) o<H 2

) 1m3 2T

d B 10332



6.

Paper |

Which among t following

statements(s) is/a ‘@
Mughal rule underre sbout the

2. Akbar issyeq t
to take all religj
own hands.

Select the correct

code given below -

(a) Only1

(b) Only 2

he Mahzar-nama
ous matters in his

answer using the

M Both 1 and 2

(d) Neither 1 nor 2

In the Indian Freedom Struggle, who
among the following revolutionaries
carried out their activities from
abroad ?
1. Raja Mahendra Pratap
2. Maulana Barkatullah
3. Lala Hardayal
Select the correct answer using the
code given below :
(a) Only 1 and 2)»
(b)  Only 2 and 3

Only 3
(d 1,2and3

Which of the following initiatives

was/were taken by Sher Shah Suri to

promote trade and commerce ?

1, Atroduction of gold, silver and
copper coins of uniform standard.

2. . Restoration of the Grand Trunk
Road.

3. .~ Simplified the
structure.
Select the correct answer using the
code given below :

(a) Only1

(b) Only 2

(¢) Only1land2
1,2and 3

custom duty

(D-4)

WIS T WMUls HA® ARG € AN §9
foHs gust feg" faogT ATt /35 2

(b) oA=TH 2
(¢) 1m3 2 g
d 3Ia1MI a2

FISt niget € Awdn few fans
giStagt feg' fam & feem 37 nmushft
IStfetnt g 9

1. 9 HJIEI Y3

2. Ho® g9a38%

3. &% IIOS

fors st & TI3fontt At 839 wE -
(a) =B 103 2

(b) A=TH 23 3

(¢) o=H 3

(d 1,2m3 3

A9 BT B 3 TuT w3 T=A o I3

el fors fed a3 o=8s s 7a 2

1. 73, It 3 3 ¢ 53 Jgg @
fAfamrt &t ggmm3 |

2. YT oIF I3 o HITTE |

3. OHZH JJ 33d T AJHIATS |

fors st & Tg3font AR 839 TF

(a) dA=H 1

(b) A=H 2

(c) =B 13 2
(d 1,273 3



9. Sangam texts suggest several stages
of social evolution of Tamil people. In
this context consider the following
statements :

1. The narrative texts show that
< Tamil people of the times Were
primarily pastoral.

trade and

2.\7,, No reference to
has

activities been

economic
made in these texts.

Which of the statements given above

is/are|not correct

(a) Onlyl

Mly 2

(¢) Bothl and 2

(d) Neither 1 nor 2

10. Which of the following was/were found

in Mohenjodaro ?
1% Bronze Image of a dancing girl

A Steatite image of a bearded man

3. Terracotta figurine of Mother

Goddess
Select the correct answer using the
code given below :
(a) Onlyl
./(ﬂ/(‘)nlyZ

(¢) Onlyland3

(d) 1,2and3

(D-5)

Paper |

10.

]%"@Frﬁﬁwzrgrﬁm&aw
39 3 U UBd B FS |

0. fégt Toeet fag wu@ M3
wirafaa qifsfethrt 7 JEt ITH
adt fH®eT |

Qazfeﬁfaa?mﬂﬁm?%/aﬁ?
(a) a=® 1

(b) oS 2

¢ 1n32%

d & 1332

VSaes feg fowe feg alf Ffenm A 7

1. faz aoel szt ©@f  fU3®
(Bronze) ot HI3

o ot @@ wmedt & ActeTee
(Steatite) HI3

3. 2gdc (Terracotta) o Wt o<t &

HI3
(a) A=®1
(b) OB 2
(¢ o= 133
d 1,273 3



11. With reference to the medieval history
of India, the terms ‘Dahsala’, ‘B_gtai’
and ‘Nasaq’ are related to
(a) branding of horses with imperial

marks by Samudragupta

(b) rituals conducted during
coronation of a new Gupta king

I)p)" land revenue systems during
Tughlaq dynasty

(d) land revenue systems during
Akbar’s reign

12. Consider the following statements
regarding the administration under
Chola Empire :

W erscat="

1. _The Ur and Sabha were village
assemblies mentioned under
Chola inscriptions.

2. The village affairs were managed
by executive committees which
were open for all.

3). The Dravida style Brihadisvara
Temple at Tanjore was built by
Rajendra I.

Which of the statements given above

is/are correct ?

V(aa/Only 1

(b) Only1and3

(¢) Only2

(d) Only1,2and3

Paper |

11.

12.

(D-6)

mémwéﬁﬁﬁ
Adfos 95

@ miesaus wore w83
At fomat € BATE

(b) 72 qus g T I O AT
oddH dF

(0 ZIwx e[ T AN T e @
waTE T ygy

d) waEd T AN €96 mits T &G

T ydu

FEst § feurg -
1. B3 m3 mor, 9% yg<gmit fog
fyeg i3 filz = foats A |

3. THEd I ¥ worgr Sadg fon
e AR T fygeferergr 1ifeg
gEfenT fapur /|



13. Which of the following statements

is/are \EBf,Jiciorrect; about the

Vijayanagara kingdom ?

1-)0 The Vijayanagara kings
maintained complete separation
between religion and
administration.

2. _Land revenue was the main
source of income.

3. — Administration of the villages
was carried out through

hereditary officers.

Select the correct answer using the
code given below :

(a) Only1and2

(/W{\Only 1
gM/bnly 2 and §

(d) 1,2and3
14. With reference to the
Udaigiri-Khandagiri caves, which of
Nl — -
the following is/are

correc

1._They are examples of the rock-cut
cave tradition.

statements

~ S
2. These caves have inscriptions of
Kharavela kings.

3. The caves were primarily meant
for Buddhist monks.

Select the correct answer using the
code given below :

(a) Only 2
(b) Only1and3
(¢) Only1and?2

t)d')/l,Zand3

Paper |

(D -

. 5419 A®353 a9 fors fagzr ags
H?ﬁ?iﬁ'%f/tra;?
YRS wfdfimrs yas wisfoedt
g I9STY Sfimrr |

2. MMHES T HY /Z Mt ©F B

Ao

3. fls = ygms fegmst nieAd'
YOITaT I&TfenT AT | |

(a) oA=H 1 M3 2

(b) AIFH 1

(c) d=H2NMI 3

@ 1,2m33

14, Gfydt-darfdt et W foe Eet

Gvragat T |

9. fog geet uoew It it
e gt BETII8T I8 |

3. feg ge=t UR J9 FOT AT ¥
e A |

(a) O<H 2

(b) =B 1MI 3

(c) d<B 132

d 1,233

7)



15.

16.

Paper |

What important influence did John
Locke, Baron de Montesquieu,

Jean-Jacques Rousseay and Voltaire
have on the Uniteg States ?

(a) They were Europeans who came

to help the Americans ﬁ%Et the
British in the Revolution.

Mhey were European political

thinkers who influenced the ideas

of American leaders at the time
of the Revolution.

(0 They were Europeans whose

inventions sparked the American
Industrial Revolution
1800. )~

They were European
philosophers who met with
Thomas Jefferson to draft the
Declaration of Independence.

around

(d)

From July 17 to August 2, 1945,
leaders from the Allied nations met at
the Potsdam Conferﬂlce to decide the
sanctions to be put in place against the
recently defeated Nazi Germany.
During the conference, the decision
was made that certain industries in
Germany would be

(a)

brought back to their pre-World
War I levels.

(b)

governed by the forces occupying
the country. /°

@./Cej/ disabled in order to destroy

potential for war.

(d) revitalized because the war had
damaged them, *»

15.

16.

(D-8)

95 B, 896 © HoCHIGE, A& AgH
IR n3 BT T G&TECS ASTH 3
fz‘awmz{g@'ﬂ??

(a) feg §g galt ms A &t feu
niggat  fedu  woidtetet &
AJTEsT B e AS |

feg €7 gt a3 fd3a As
frst & gt @ mY nodtet 33
¥ fegat § ygrfes |37 |

(c) feg 8T ot A& fagt dhuf amf

(b)

(d)

AfJWat IHeat @ 37 17 asEr 3
2 MJA3 1945 3IF UCHS™H F5eIH
%ag%ﬁwﬁmﬁ%ﬁwmz
€ SHS Hadt H& | aedn S9s gz
& famrr |

(@) I3 forfes Getar yge-fepe

WU 1 ¥ 009 3 o qrear |

(b)

© YU Hews § usy g9s @t

(d)



17. Match the following : 17. fous & firmg

List List I1
(Personalities) (Misls)
A. Jai Singh 1. Nishanwalia
B. Hira Singh II. Kanhaya
C. Dasaundha Singh III. Nakkai
D. Naud Singh IV. Sukerchakia
A B C D
—(a) 1I m I v
><J(b) I II 111 1A%
c) IV III 11 |
><(d) II I v 111

18. Maharaja Ranjit Singh gave grants to
the following religious places :
(a) Harmandir Sahib, Amritsar
(b) Sachkhand Huzoor Sahib,
Nanded
(¢) Vishvanath Temple, Benaras
Mgf the above

18.

19. Consider the following statements and
choose tKe correct ane(s).

1. per 2011 census, the percentage 19.
of agricultural labourers constitute
more than 30% of total workers in
the State of Punjab. '

yn 2019, Punjab had nearly

95 lakh hectares under Basmati
which is less water consuming than
other varieties of paddy.

Select the correct answer using the
code given below :

(a) Only1
(b) Only 2

_4¢J Both 1 and 2

(d) Neither 1 nor 2

Paper | (D-9)

(st 772;;)
A W I fogsesmr
B. d" frw Il I&JEM
C. =T fifu 101 ot
D. &u fiw IV. HXIgaT
A B C D
(a) II m 1 v
(b) I I 11 v
(@ IV I 11 I

(d II I v I

Hogr JeAs ffw & fors orafHa
(a) dforfes mfog, »iftyzAa

(b) FOYS Tgd AJd, S

(c) feresw Hfes, go9r

@ 83 A9

Ma’awaﬁ'e'%w@mﬁae%
12011 o HIEHEHET A,

At Heet € I € I At
g 309% T S yHHEIIT I |

(¢) 1mM3 2T
d) & 13T 2



20. Match the following pairs :
State

‘ Dams and
Reservoirs
1. llldadhya — Sriram Sagar
radesh Reservoir
2. Andhra — Bargi D
Pradesh et Dam
g Tamil Nadu __ Sholayar
Reservoir

Wthh Of the pairs
@atched ?

(a) Only1
(b) Only 2
(¢) Only3

\99/ 1, 2 and 3

21. Consider the following statements
about Thal Ghat :
e

given above are

1. Itis also called Kasara Ghat.
2. Itislocated in Maikal Hills.

3. Bhusawal-Kalyan railway line
traverses through it.

Which of the statements given above
e ormen

(a) Only1and 2
(b) Only 2 and 3

L(})" Only 1 and 3
(d) 1,2and3

22. Which among the following is a
Glaciatic We ?

(}aa/ Nilnag in Kashmir
(b) Chandertal in Himachal Pradesh

(c) Rudrasagar in Tripura

(d) Loktak in Manipur >

20. fors det & fegd :

SH W3
R [SHTRNITT
1. Ho yen _@m
2. ofiggryed  _ gragdit M
3. IfHmas __ HAfenrg
famaeng
8a3 et feu' faozT At ez 9 2
(a) a=H 1
b) =B 2
(c) oATH 3
(d 1,233

21. "% ure g9 fors Fgst § fearg

1. fer & a9 we & fagr 7w
J |

2. fego Has uost feg Bt 3

3. FATH-AfemE I wfes fem
v feget Sust 3

Bus »ifaz sEst e foaz FH S 9

(a) O=® 13 2

(b) A=TH 2 NI 3

() ATH 1 M3 3

(d 1,233

22. fEst fod foozr a@mveg o3
(Glaciatic Wetland) I 2

(a) oAHIT feg Stwamar
(b) ToH9® yer feg Juasm
(¢ f3usr feu gurqe
(d) HatyT few a3

Paper | (D-10)



23. Choose the correct statement(s) :

Statement I :

Wild water buffalo is majorly
found in North-Eastern and
Central India.

Statement 11 :

The Indian landscape is home to
more than 85% of the Wild water
buffalo population.

Choose the option -
()/cf)/‘ Only I

(b) Only 1I
(¢) BothIandII

M either I nor II
24. Choose the correct statement(s) :

Statement I :

/Corals are an endangered marine
and protected under

species
Schedule I of Wildlife Protection
Act, 1972.
Statement 11 :
Rhizangiidae, Caryophylliidae

and Dendrophylliidae are the
names of Coral families, recently
in news as the Maharashtra

government gave permission to
translocate some coral colonies in
order to build a coastal road to
ease traffic congestion.

Choose the correct option :
(a) Onlyl
(b) OnlyII

(/Ce?/ Both I and II

(d) Neither I nor II

Paper |

23. Adt qEs & 7E

FGE 1 :
TIeEs TeT g2F (U & Haw
Hom) fmmezg Gaguast w3
et 993 few it I |

g5 11 :
393 gfen HAg o 85% 3 <0
Tfess Teg 2% (udt & Hoe
ge®) S Aerftmr e wd T |

H?ﬁ'mg%

(a) oA=H 1

(b) A=HII

¢ Inm3IT

(d) & 13 Il

24, AT AES S TE
J9% w3y feg wreht miedt

an@mmm
J2ars wae, 1972 & nigESt 1

TS AIEAS TG |

- FESII |
foqadtant, Qdigetessn 1S
SxTofedan, 995 $3T € T I A

g% Ot feg HIldHSd AIA9 ©
fex @ mHwe § wegE FE
YoogHt AZX © feoH BE FIG
grdor $ et & 3 @i o et
g 96 yadt f<9 A |

At feasy 92 -

(a) dA<H 1

(b) o= 11

) IMIIMeT

d I In3a Il

(D-11)
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25. The COVID-19 pandemic has exposed

the vulnerability and plight of sexX
workers across the world.

Which among the following statements
are/true about the recent adviso
related to sex workers issued by
NHRC (National Human Rights
Commission) ?

Statement I :

NHRC advised to change the
2%
current sta/tgggmpstatus_ﬁf sex
workers from ‘i al wo
to ‘Women at work’.
Statement II :

The advisory says that such
workers may be provided benefits

" on humanitarian grounds that
are entitled t@
Choose the correct option :
(a) Onlyl
7~ Only II
(¢) BothIandII
(d) Neither I nor Il

.
26. Choose t@atements :

1. The Mediterranean lands account
for more than half of the world’s

exports of citrus fruits.
2.70The Olive tree, native to the

Mediterranean region is a very |

soil sensitive tree and thrives
only in well drained earth.

3. France leads the world trade in
fresh grapes with more than 90%

share.
4. Cork Oaks are typicall species of
Mediterranean Evergreen forests.
Choose from the code given below :
) Only 2
(b) Only 1and 2
(¢) Only2and3
(d) 1,2,3and4

25.

(D-12)

m-g%awﬂﬁﬂfaﬁﬁ”a]%
fonier |
IR fHAs

Sgamit a3 GaT I6 |
HIt feamy gE
(a) oA=H 1
(b) o<H II
e IM3IIeT

@ & In3 a1l

26, T3 TEE' G TE

1. PEteIdnis mitst fAear (d)
g® @ ARG feg dur o 3 <O
fogur3 q9¢ I8 |

2. Gfse Toyz, HEicddis 839 &
I m3 =3 yIs it it fes
AESHSE der T |

3. 3w niget ¥ fere cuT feg 90%

3 du fIAedt &% o9/ A T
Haatd |

4. d99 G HIteIsmis FetgaT
<= & ATyt 9 |

(a) O<H 2

(b) A=TH 1 W3 2

(c) JATHB2m3 3

d 1,2,3n3 4



27. Choose the @tatements :

1.

The gentle slope of continental
of Grand Banks of
one of the

shelves
Newfoundland is
reasons for it to emerge among
the largest fishing grouﬁds of the
world. ~ - a

Both pelagic and demersal fish
are caught commercially here.

Cod is the chief fish caught in the
Grand Banks.

St. John’s, Halifax and Yarmouth
are chief ports of Newfoundland
from where the fish is exported.

Choose the correct option :

(a) Only1l

(b)
(c)

Only 1 and 3
Only 1,2 and 3

M, 2,3and 4

28. Choose th@)statement 2

1.

Sea of Galilee is an example of
lava blocked lake in the Jordan
Valley.

The Tafilalet Oasis in Libya is
surrounded by a wall to keep out
the dust storms, locally called as

simooms.

Choose from the code given below :

(a) Only1l

(b)
(c)

Only 2

Both 1 and 2

27. Adt qEst § gF -

L 18 =833 ¢ a¥s dam &
ferm ¢ fome & gy 3 <3 W&
S35 T fewfomit fed 8596
&g a9 T |

2. VO »3 shigrs Hel U
ESIEREECE e el

3. d3 93 Yan feg =t AT TH
Hd Hel 9

4. fs8 =€3B3 It AT "o,
Ieam w3 wowBy WY
fsguz JTv J |

At feamu 98 ¢

(a) d=B 1

(b) d=H 173 3

¢ A=TB 1,273 3

@ 1,2,3n34

28, &3 TGS B &

1 o wie I8 dess Tl feu
=T g%as (Lava Blocked) 5%
o feq Qegas T |

9. fedom mfES Eodc GTHIA
(Oasis) fifdt ¥ 3eaf, frgf )
Aesa 39 3 o foor w7 9,
3 goz ®Tt feax 9 &8
furfanr 3fenm T

(a) A=H 1

(b) o= 2

(¢) 193 2%T

d " 1mM3 &2

(D-13)



29. Consider the following statements : 5 = 3 f
1. _~The Medical Termination of L= AT b020, & AEtE®
Pregnancy (Amendment) Bill Fm fas ’ :
2020 seeks to amend The Medical W_ e

Termination of Pregnancy Act,
1971.

2. }e Bill sets up State level
Medical Boards to decide if a
pregnancy may be terminated
after 24 weeks in case of
substantial foetal abnormalities.

3.>0 The Bill specifies that survivors
of rape, victims of incest and .
other vulnerable women like 3
differently abled women and
minors will now be able to opt for
abortion up to 28 weeks on the

advice of two doctors. " |
Choose the correct statement(s) : At sEst & 98
(a) Only1 @ =1
Mnly 1 and 2 (b) JATH 1 W3 2
(¢) Only1and3 (c) o<H1m3 3

(d) Only1,2and3 d) JIeB 1,213 3

30. fors FEst § fega -
1. &t & o J feg “zdt feg

30. Consider the following statements :

1. Odisha recently launched “Drink

%

AT

from the tap Mission-Sujal” to
ensure the supply of quality
drinking water to the people.

iz € fHEs-ges” 3
éﬁrtﬂzﬁuﬁﬁmﬁﬁ
Woldt g578F &t 7t A3t I |

2.\, Odisha achieved the target of 2. GstAT & 2020 fe9 100% yIH=
100 percent  household water UI® UE EF FUSTEr ¥ J3IHST
supply connections in 2020. o Ao YU STy |

Choose the correct statement(s) : Adt CEEro §° gs

(= Only 1 (a) I<H 1

(b) Only 2 (b) oA=H 2

(¢) Both1and2 ) 1mM3 2 e

(d) Neither 1 nor 2 @d 132

Paper | (D-14)



31. Which Article of the Constitution | 31. Hfegs
. ET o

provides that it shall be the endeavor . forgzr MEeT HIST FJeT
99 99 & feg afgm Jedt &

of every State to provide adequate
facility for instruction in'the mother FHE W fasdt muofont, £ HE®

tongue at the primary stage' of werer  feg ,
education to children belonging to et I feg W 7l
ITEE BE Fomit pfegret BT |

linguistic minority groups ?
(a) Article 349 (a) NEET 349
‘ (b) WMaET
\/(/K(Article 350 ) = 350
- (c) "zeT 3508
Z)  Article 350 A
(d) »geT 361¥

(d) Article 361 A

32. Choose the t statement among 32. fous fed aI®3 oEs ¥e !
1. JA" (Hausa) st =7 HY

the following :

i, The Hausa are a primarily 39 3 ug U S I & ugf
pastoral tribe of Nigeria for 25 e L_{B"T‘o( = fegrger 3
whom cattle is a symbol of -
wealth. 2. fﬂ?'@ (The Bindibu) MTACIHBINT

9 The Bindibu of Australia are © ”jfgu-a'gzs firerd U?””%”’ﬁ

& A3 ¥ 33 ofge § Ufo® fee

primitive hunters and prefer to

stay near the source of water. 95 |
(a) Only1l (a) o<® 1
(b) Only 2 (b) ORH 2
Both 1 and 2 © 1mM32%<

Meither 1 nor 2 d a 133 2

33. As part of ‘Vaccllne Mai Pohcy which 33. 2 Sod Elt i p -
of the following countries became B N
= fg3 oF I93 feuw ¥ dfes-19

first recipients of the Made-in-India
COVID-19 vaccine. dqfis © A8 3 ufd® Y3 I3 gs ?
(a) Nepal and Bhutan (a) ¥U® M3 ITB
C)b/ Nepal and Maldives (b) dUSH N ERTES
(©) TT& M3 HBEI

(¢) Bhutan and Maldives 3
@ HIERE w3 3T

(d) Bangladesh and Bhutan

Paper | (D-15)



N

“.34. Recently again in controversy,

- dJallikattu, is the bull taming
traditional sport of which Indian
State ?

{2 Tamil Nadu
(b) Kerala

(c) West Bengal

(d) Karnataka

35. Which among the following nations,
owing to its steady economic growth,

has recently graduated from the UN’s
official list of Least
Countries (LDCs) ?

Developed

(a) Maldives

M) Samoa

(¢) Palau

(d) Vanuatu

36. Which of the following is foreign

bank in India ?

k&) Citi Bank
(b) Standard Chartered Bank
(c) Federal Bank

(d) HSBC

Paper |

34. gm dF, feew few feg fudt mw
g8z &t 393t us, #A¥iae, faom
I <t yots us I 7

ITHSES

(a)

(b) JAI®T

() UgHl Sar®

(d) dI&EAT

35. gne. & A8 3 We feafiz ont
(MBITAL) & Fgaret gt fieg faomr
W R AT wiefew feam ar9s
99 BT nifenr I ¢

(a) HBTteg
(b) AHMT
© uUsg
(d) =3

36. fewﬁ%%awmﬁg%%ﬁﬁ—o(
&t I 2

(a) At &%

(b) HESIF 9eas ¥
() 598 ¥

(d) WEHES R

(D-16)



37. In view of a recent Supreme Court
order, consider the following features
of coastal regulation zones in India as
per the CRZ Notification :

1. CRZ-1: Exploration and extraction

of natural gas is permitted

selectively.

CRZ-2 : Unauthorized structures
are allowed fo be constructed in

)62.
this zone:

3. CRZ-4 : Fishing is permitted in this

zone.
Choose th@natches :
(a) Only1and 2
(b) Only2and3

t)p)/ Only 1 and 3

(d Only2

38. Which of the following organisms
is/are considered as “Benthos” biotic
_bentnos

community ?

1. Starfish—
2. Beetles
3. Oysters .-

Choose the@ answer using the
codes given below :

(a) 1land?2
(b) 2and3

(}Q/land3

(d) None of the above

Paper |

37. T8 &t v I® pudty dee @ few
A ¥ WS 3 Mg . wiftEes

1. FMIAF-1 ;. gesdt AR €
e u feu o w3 feam &
oo I |

9. HnEAs-2 : fem ¥e f©
wianfoafas Heger GAds €t
g &

3. Foaag-4 ; oA de 19
Wit g3 <t nirfamr |

At 73 9

(a) B 103 2

(b) AT 2 N3 3

() =% 133

(d) o= 2

38. i et o “Ssur” Afed AyETE

(D-17)



40.

Paper |

39. fere fAos Foos =& el

The World Health Organization has
dfaclared. Africa wilq polio-free. The
disease is now found only in which of
the following countries :

V(/Jf Afghanistan ang Pakistan

(b) Afghanistan anq Kyrgyzstan

() Uzbekistan and Pakistan

(d) Kyrgyzstan and Uzbekistan

Whj f the following statements are

orrect

1. The DNA Technology (Use and | 40-
Application) Regulation  Bill,
2019 provides for the regulation
of use of DNA technology for
establishing the identity of

tai .
certain persons 93

2. NA is made up of @airs of
chromosomes and provides
instructions for building an entire
organism and proteins.

3. A is composed of two chains,
which coil around each other to
form a Marrﬁng the
genetic instructions used in the
growth.

4. Under the Bill, DNA profiling
is allowed only in respect of
criminal matters.

Select the correct answer using the

code given below :

(a) Only1and?2

(b) Only 2 and 3

uzi/f)nly 1and 3
(d 1,2,3and4
(D-18)

(b0

Tfems USIE-Ha3 WETent A gar
¥ | feg St 7T a=E fors few:

fagt ont feg uret AEt J ¢
WEITBHIS »3 UTSA3™S
WEATEASS i3 faIfamAs™s
SrafaAs™ »i3 UfaAsSS
faafarmrsTs »i3 8Fgfars™

(a)
(b)
(c)

(d).

fovs IEat feg” faaz™ AT 9 2

1. StAge swslw  (F93 o3
feorg) Sa@ms fas, 2019 g®
ferisstort & mem § mEfus
96 BTt STASE. 3aslx ot
93 & JgBFE 79 T |

2. StodE. IIHTH T 26 Fet =
oo I i3 fea-ud e w3
ydts v fsans dheit gefest
HJIEMT a9e T |

3. S8 eI sz T S
5 fa 59% Ifssn =89 o5 =
%@ﬂ&éfﬁ%&’awzjﬁﬁl

4. fas ® wils Fem  wrygiog
Hmﬁvsnﬁﬁga?.%.é.li—ﬂﬁeﬁa
T g |

fores S5t § Tgsfont Adt 839 g5 -
(a) =& 1 N3 2
(b) I=H 2 N3 3
(©) =& 1m3 3
d 1,2,3n3 4



41.

42.

Recently, the Union Minister of
Commerce and Industry- launched
Natlonéf"(ils;enabl%d_, Land .Bank
System. Which of the following
statements are correct about the
system ?

1->d The platform is created to provide
database of industrial clusters
over South India.

2. The information available on the
- platform includes
about forest,

information
drainage, raw
material heat maps (agriculture,
horticulture, mineral layers) and
multiple layers of connectivity.

3. will help India in achieving its
target of 5 trillion USD economy
in five years by providing
transparent mechanism of land
identification and procurement.

Select the@rr7ed answer using the
code given below :

(a) Only1and2

7" Only 2 and 3

(¢) Only1land3
(d 1,2and3

Consider the following statements :

1. Pratheeksha is India’s first
Marine Ambulance launched by
Kerala Govt.

9. It aims to save the endangered
Indian Mackerel and Olive Ridley
Turtles from poacheMe
Kerala Coast. "

Choose the _i_r_lﬁgl;rgc,t_statenient(s) ;

(a) Only1

(b) Only 2
(¢) Both1and2

l/(‘d( Neither 1 nor 2

Paper |

41.

42.

(D-19)

I8 I ¥ fo9, ayg w3 Gevw @
Fedt VSt 3 amedt eret,
featass 85 ¥ famew (@ff ¥
m)m%|m]%—e—ﬁgﬁw
EIERECECETR: i
1. 50 ugss S g9z ©
Geufom $3t = wiggr wu9
YT FI6 BT gerfenr famr T
2. fem 193w 3 Quwwy mgus <9
TT, foamt, 39 H® © 3U &aH
(a3tEEt, gaEst w3 "ied
udsh) »3 g6 Inff gg-udst
o HO& HHS T |

3. feg udEdEs &, ot FEHES

v3 YUt yEg  HIET
ﬁ?rzaﬁf&mmmﬁrﬁs?mfaa?
956 € 9 3 yus 96 €9
ﬂaTt“*esTa%aTrl

ﬁ?Hﬁ&BT§€G3WHU°FQBH§J§
(a) ATH 1 M3 2

(b) IA=H 23 3

(c) OB 1M3 3

(d 1,273 3

fsre sEst § fegmd :

1. yfsan, a9% e M98 oSt
get 393 & ufos mHEdr
WESH T |

9. fem = foAar 9% ¥ 32=930
fewfant feg uss 9 we
gg3t Hoadw 3 Gfee fozom

gt § ASh3 I3 J |
J%3 ES IE
(a) o=& 1
(b) d=H 2

¢ 1mM32e
d) 3 1M3 &2



43. ICMR published “Na

Paper |

tional Guidelines
for Gene

1. /I,t/ is defined ag any biological

entity, having the required gene,
that - could introduce
modifications ip the genome for
therapeutic benefit,

2. EPS work by repairing,
replacing or

dysfunctiona]

deactivating
disease-causing
genes to restore normal function.

3. As per the New Drugs and
Clinical Trial Rules (2019), the
GTPs falls under ‘new drug’ and
shall always be deemed as ‘new
drug’.

4. C}‘h&lassemia, Gaucher’s disease,
Sickle cell
Haemophilia fall under the

anaemia and

genetically inherited disease
category.

Select the @answer using the

code given below :
(a) Only1and?2
(b) Only 2 and 3

(¢c) Only1,2and3

£d1,2 3and4

(D-20)

43. WELHAH G, 3 Wi g Rt @

Gsue feam n3 JWifoas ofewy
3T I | e 'Rt Ysae FAan,)

fafanrdts Igfentt, ny yaraw
3 HZ HIM3 g9v I |

3. a—eﬂﬁaa“am»r%aﬁm?ﬁas
faent, 2019 wigmg 2Tt
‘aﬂxsﬁm’%tﬂ%ﬁe’vmﬁvﬁ
AHSYT Jragr |

4. ESFhior, deany dhdt, fram
RS nidhinr w3 Hifafenr Afes
MERHS St (inherited

disease) ¥ fegst feg mee
Jda |

(a) oA=H 13 2
(b) IA=TH 2N 3
(¢) B 1,2 w3 3

d 1,2,3nm3 4



44. The Prime Minister of India mentioned

45.

Paper |

the mega plan of “One Sun, One
World, One Grid” project in the
Independence Day address. Whi !
the following statements are éorre9t>

about the project ?

1(./I,V.1's a transnational electricity

g’nd supplying solar power
project.

2. )J The idea of the project was first
introduced in 2018 during the
%rst assembly of International

olar Alliance.

3. China was the only member
country to resist this proposal
during the ISA meet.

Select the correct answer using the

code given below :

(a) Only 1and 2

(b) Only 2 and 3

nly 1 and 3
(d 1,2and 3
The Government of India has
constituted National Council for

Transgender Persons. Which. of the
following statements are @bout
the Council ?

1 ‘/’Phe Council will be headed by the
Union Minister of Social Justice
and Empowerment.

2._“The Council is a statutory body
found under Transgender
Persons (Protection of Rights)
Act, 2019.

3. State level and District level
< councils for each State will be set
up under this act to address the
grievances of transgenders at
grassroot level.
Select the correct answer using the
code given below :

(a) Only 2 and 3

(b) Only 1and 2

(¢) Only1and3
1,2 and 3

4. I3 T YT Hed 3wt feen 3

45.

(D-21)

REUs aafent “fog maw, foq fene.
fea afds” Mor e o fyag o=
ﬁ'mmﬁmmm
AJT I8
1.

ﬁmm@wma@w
IHCS famat aifdz yraee 3 |
fer yiae o fegg 2018 few
W3ITHSS  Hodt  mfoger ot
ufgd  fedzasr Igrs  fenier
famir At |

3. dts I fex nifggr wEg @F A
AR & et iR 2. @ fiss €96

N

for 3udty & feguzr 5t A
(a) OB 13 2
(b) o= 23 3
(c) o=<® 133
d 1,233

93 AIAd & 2IANST fenaZdmi

®et gHedt &fhs afss aist 9 | fem

J6 7

1. FHAX fanft n3 nifugast &
niftriaH3T 9dr |

9. dfs oIdAnzgd  fomadnd
(miftrargt & gafamm) mide, 2019
Hass T | )

3. fem Mde wdls  ZIAA3T
et et mifet &
& o9 3 I 595 et I9

IfA®w AETUS =St ArEdind |
fones ot § =93fentt A €37 T2
(a) d=H 23 3
(b) A=H 1M3 2
(c) I=B 1M 3
d 1,203 3



46. The Ministry of Environment, Forest
and Climate Change recently
published the

draft _Environment
Impact Assessment (EIA) Notification,
2020. Which of the following
statements are ¢orrect about EIA ?

1. Hpredicts the effect of a proposed

industrial/infrastructural project
on the environment.

2./]1/ prevents  the  proposed
activity/project from being
approved without proper
oversight or taking adverse

consequences into account.

3. 1 mpares various alternatives
for a project and seeks to identify
the one which represents the best
combination and

environmental costs and benefits.

of economic

per the new notification, Coal

4,
/d:rsld non-Coal mineral

and solar photovoltaic projects do

not nee rioy environmental

clearance.

Select the correct answer using the
code given below :

(a) Only1and?2
(b)

t/({r Only 1, 2 and 3

(d) Only1, 2and4

Only 2, 3 and 4

Paper |

46. TIEgE, TE i3 ASY Ufgeass
H3IT®E 3 IIedE YT HEaE
(Etnret2.) niftrgsT, 2020 T 39<C
TS It feg yarfas 3T | Ehoretre,
T 99 fans st fog fags At 3 2
1. feg ST Setifara/
fesegAcIaOI®s ynde  ©
IITIE 3 UT T I & yIe
AosT féer T |
2. feg fast 2w w3 YHas
fafanrjfae & yes J= 3° Jaer

deT J9 |
4. &t fuAgs weAT w3
EICE e U - L S——

(Prospecting) »13 Aol de=may

Cilcedonio
(a) OB 1013 2
(b) O=H 2,3m3 4
(c) A=HB1,2n3 3
d) dTB 1,23 4

(D-22)



47.

48.

Paper |

E,Liii’/groject was launched by NITI

e .
International T rt Forum (ITF).
Identify th@fgrrﬁtatement.

Recently Decarbonising Transport in

Aayog in collaboration with

(a) It aims to develop a pathway
towards a low carbon transport
system for India. —

The design a
tailor-made transport emissions

(b) project  will

assessment framework for Indias” | ’

W, Azerbaijan, Nigeri
Morocco are the participants of

Nigeria and

the Decarbonising Transport in
Emerging Economies (DTEE).

(d) None of the above

The United Nations
Program@
[_&g_gg:y Jomtly released a ‘Coohng

Emissians Policy Synthes1s
Report’ Which of the

following statements is/are
about the report ?

Environment

L is based on assessment of
development and climate benefits
of efficient and’ climate-friendly

cooling.

2. It lays out actions that can be
taken to deliver efficient and

climate-friendly cooling for all.

Select the correct answer using the

code given below :

(a) Only1

(d) Neither 1 nor 2

47. ﬁm%w(ﬂ&gﬁmﬁ

48.

(D-23)

SIE SIH (MELEANT.) ¥ 5% fum
WW@B’T | IBI JES o
A3 a9 |

(a) m?mmﬁgu}g
986 TI6 gy T g9 feAfAS
FI&TJ |

fes yiae sost § feawe
uEgE ¥ Meigs wr wfEer
WWW%&?W
FIar |

Bggemr nrafgazet feg 393,
wAdgfEas,  ofedidmr w3
R Sy .
few Fhiafrar feadHd
(t.2t.et ) 9 AHs 95 |
d) B3 feg asgt adt

AUaS JTHST TIEIE YIgH M3

ni3gdHedt B9 THAT & s o

af%safsﬁ-mmwwﬁvsﬂ"rfﬂ?;&l’ﬁﬂ

folge (AtEtat e, At oSt

3 | fom foude ¥9 fors FEst feg

gz AIt 3/05 7

1. feo IE® M3 TIRIE 1iEdSH
IS € A=Y w3t w3 e
%H‘&S‘G’E%Wﬁ?%l

9. feg Ao Bt IAG M3 ARG
eg® Jfdal YeTs 96 BEl BT
7 OFAE T% qOR § TogEl
J

(b)

(c)

(a) q=TH 1
(b) oA=H 2
() 1mM3 2%
(d 3173 a2



49. Which of the following statements are

</ W’regardmg Virtual Water Trade

(VWT) ?

1.

2.

refers to the import and export
of hidden Water‘in the form of
producfs SllC];l as crop products,
textiles, ‘machinery a;ld l.ivestock

which

require water for

production.

e concept was introduced by
Tony Allan in}1993 to explain the
import  of water  intensive
products in arid and semi-arid
regions in the Middle East and

North Africa.

The World Water Council is

headquartered at  Marseille,

France.
rrance.

Select the correct answer using the

code given below :

(a)

(b)

(c)

Only 1
Only 2

Only 1 and 2

t/ﬁd’)/l,éandB

Paper |

1.

feg FAm ¥ 83U, A
éwaﬁwﬁéf@s%@@i
g miafer® wd T TS w3
fsgs 99 T |

feg feog 2ot Migs & 1993 feg
Yool w3 85 wedtar @
Hg M3 WIU H'g ¥39 feg urat
9 merasT I® B3uwt @
w3 S fenrfior St Hg
&3 |

fere udt 3fs = Wy Tesg
HIA®, €3H feg T |

forns a3t & =93 a9e I wt €39

-

dge

(a)

(b)

(c)

(d)

(D-24)

ATH 1
ATH 2
JATH 1 nI 9

1,2m3 3



50.

Recently, the 15t India-European
Union Summjt wme‘
virtual medium. Which of the following
are correct about the summit ?

1. ‘India-EU Strategic Partnership :
A Roadmap to 2025 was adopted
to guide cooperation between

India and the EU over the next
five years.

2. /,Adopted declarations on Resource
Efficiency and Circular Economy.

3. 969( agreement between

India-Euratom (European Atomic
Energy Community) on research
and dévelopment‘ cooperation in
the peaceful use of nuclear energy
‘was signed on the eve of the
summit.

4. An agreement between Europol
and CBI

terrorism and organized crime.

Select ﬂ@answer using the
code given :

(a) Only 1 and 4

signed to combat

(b) Only1and3

(¢) Onlyl,2and3

\/drl,2,3and4

Paper |
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50. wﬁ&aﬁmﬁ,m—mﬁaﬁm

¥t ¥ (Summit) zggnms Hitmng

SRR - I SN

foros 85 At 05 9 |

1. ‘E'EB—E’T.BJ. I3 Fretea
2025 3% T HET § nad 5 A
Mm@ﬁ.g.%wf‘aﬁm%

HAdIEdRG &8t wiusfenr
famr |

(a) oA=H 13 4
(b) dATH 133
(c) A=<H 1,2n3 3
d 1,2,3n34



51.

The Union Cabinet recently approved
the New Education Policy (NEP), 2020.

Which of the following statements are
.@ bout the policy ?

1>(Compulsory allocation of 4% of
the GDP in Education sector by
the Union Govt.

2. Aims to bring the uncovered age
——group of 3 — 6 years under school

curriculum.

3. ross enrolment ratio in Higher
Education to be raised to 50% by

2030.

4, (The policy envisages to set up
Gender Inclusion Fund.

5. The National Educational

Technology Forum (NETF) to be
created to provide a platform for
the free exchange of ideas on use
of technology to  enhance

learning.

Select the correct answer using the

code given below :
(a) Only1l,2and4 ™
(b) Only1,3and5”

(¢) Only2, 3and4

L)dd/()-nly 2,3,4and 5

Paper |
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52. Ministry of Earth Sciences (MoES)

released a report titled ‘Assessment of
i i

Climate Change over the Indian
Region’. Which of the following
B

statements are true ?

1?411: is a first ever attempt to
document and assess climate

change in different parts of India.

9. It highlights the observed and
projected changes in various
climatic di-inensions over the
Indian regib'n, their impacfs and
various policy actions to déa] with

the regional ¢limate change.

3. The Indian Institute of Tropical
Meteorology (IITM) is located at

oimbatore.’

Select th@ answer using the

code given below :

(a) Only1and2

Lﬂa‘)/only 2

(¢) Only1and3

(d) 1,2and3

Paper |
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3.

feg 3793t ¥39 feu nidat AEeE
yugt feg et w3 JT W
yfgeasat, s & nimg w3 fEm
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53.

Paper |

The Accredited Social  Health
Activists. (ASHAS), a community-based
functionary under National Rural
Health Mission (NRHM), have been
supporting delivery of health care
services to the last mile, especially
during COVID-19 Which of the

following are the primary duties of
ASHAs ?

le./Irt/counsels women on birth
preparedness, importance of safe
delivery, breastfeeding  and
complementary feeding,
Immunization, contraception and
pPrevention of common infections.

2, (}SHA takes steps to create
awareness and provide
information to the community on
determinants of health such as
nutrition, basic sanitation and
hygienic practices.

3. > works with the Village Health
and Sanitation Committee of the
Gram Panchayat to develop a
comprehensive village health
plan.

4.0 ASHA provides primary medical
care for minor ailments such as

diarrhea, fevers, and first aid for
minor injuries.
Select the correct answer using the
code given below :

Mnly 1,2 and 3

(b) Only 2, 3 and 4
(¢) Only1, 3and4
(d 1,2,3and4

(D-28)

53. niadfses FHA® JIBY  niddHeen
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54. The Government of India announced

linking of Lakshadweep Islands with

the mainland through Optical Fibre

Cable link.
Lable

Which o

the following statements

is/are

(a)

(b)

The submarine optical fibre cable
link will connect 11 islands of
Lakshadweep with Kochi in

mainland India.

The project will be executed in

PPP mode through a joint

venture of BSNL and RIL.

Only 1

Only 2

WllandZ

(d) Neither 1 nor 2

Paper |
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55.

56. Consider the following statements :

India’s first gas exchange, the Indian
Gas Exchange (IGX), was launched as
a wholly owned subsidiary of Indian

Energy Exchange. Which —of the"
following statements a e‘@
1. It is a digital try ing platform

that will allow buyers and-sellers
to trade both in the spot market
and in the forward market for
imported natural gas. '

2.‘)}1r/will allow i;rade across three

ul-)s — Dahej and Hazira in
Gujarat and Kakinada in Andhra
Pradesh.

3. Imperted Liquified Natural Gas

/(‘L/Igé) will be regassified and sold
to buyers through “the exchange,
removing the requirement for
buyers and sellers to find each
other.

4, 200@ inter-governmental trade in
domestically produced natural
gas 1s allowed at the gas
exchange.

Select the correct answer using the

code given below :

(a) Only 1 and 2

(b) Only 1and3
Only 1, 2 and 3

(d 1,2, 3and47?

1__ Angola and Nigeria are one of the
largest crude oil suppliers of the
sub-Saharan region.

2. India and Angola signed a
energy  cooperation

ilateral
agreement under the framework
of India-Africa Forum.

Which among the above statements
i/an€ ncorrect

(a) Only1
(b) Only 2
(¢c) Both 1 and 2

56.
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fores I3t 3 TIsfout rdt €39 T& -

(a) =% 1 M3 2

(b) dA=H 1 ™3 3

() aA=H 1,233

d 1,2,3nm3 4

fors suat § fearg

1. 0idi® w3 srieddhr Qu-Fags
939 ¥ A9 I IF o9 3Im o
YEedd3" (AuSfEgd)  feg
BT I8 |

2. II3 WZ M@ 3 93 et
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833 Fus fov' fso3T a5 gw3 J/9s 9
(a) oATH 1
(b) oUTH 2
() 1mM32a
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57. Recently, Pan-India Real w

in electricity was launched. Which of
<

the following statements are dorrect
about the market ?

1. ~Real time market is an organized
market platform eﬁabiing buyers
and ‘sellers to meet their energy
requ1rement closer to real time
operatlon

2,/0'I‘he auctions will be held 50

times a day.
3. ecame operational on two
platforms : Indian Energy

Exchange (IEX) and Power
Exchange India Limited (PXIL).

Select the correct answer using the

code given below :
(a) Only 1 and 2
(b) Only 2 and 3

\,(e')/Only 1and 3

(d 1,2and3

58. National Commodity and Derivatives

Exchange (NCDEX) announced the

commencement of trading in the

ountry’s first agriculture futures

@ alled :

(a) AGRODEX

(b AGRIDEX

(¢0 FARMDEX
(d) CROPDEX

57.

58.
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Te It farEt few moe-gwdt dvm

orfer Het At o=t aret | fows wEat

feg faa3 o8 Vst a3 At 95 2

1. I efen Hat feg Hafss st
TWEE I R ydtewst w3
T sEId ySort 95 & AoTEST
FIET T |

9. fex fes feg 50 =9 fomH
Jfen ITadoft |

3. feg € Uds® I Aofes dfenr .
CAGES] gam P CGEE]
(»rr8°r8°r%m) w3  g93t
y=g WIS H fwfHes
(Ut ASHNTENS.) |

fare a5t § T9sfentt Stx €37 8€ ¢

(a) oO=® 1 M3 2

(b) =% 2 M3 3

(e) A% 1 M3 3

@ 1,273 3

3Hew aHfSS i3 3dRfer MAASH
e A F SR & 93 T ufod
et wmit gEa fes =uw &
J:

(a) WAG3aA (AGRODEX)

(b) WAE3EH (AGRIDEX)

(c) @9H3aA (FARMDEX)

(d) FIUIIA (CROPDEX)



59. Consider the following statements -

1 —%s calls for a

more democratic security council
wit Permanent geat to Egypt,
urkey)and South Africa.

Z)ODuring the recent India - AU
Summit, Uniting for Consensus

grouping  * (yfq) strongly
subported India’s claim to a
Pérmanent seat in the UNSC.

Choose the correct statement(s)

(a) Only1

(b) Only 2

(¢) Both1 and 2
N eithér 1 nor 2

60. India recently announced a second

phase of Cotton Technical Assistance | 60-

Progamms.

statements among

the following™

1. T - grouping of Mali, Benin,
Burkina Faso and Chad is

popularly called Cotton-4.

2. \,Cotton crop is best grown
)Q commercially in Red and
Lateritic soils in India.

3..» The Cotton Corporation of India

/0 Ltd. releases MSP for Fajr
Average Quality grade Kapas
before the start of procurement
season.

L/Ga’)/ Only 1
(b) Only1and3
(¢) Only2and3
(d 1,2and3

Paper | (D-32)

59.

fores qust 3 feord :
1. fiHg, 236t 3 Tut niedts &
FElRT AEAUST © &% fogsfes

AfoHst Tt BI33foasT wmg
Hdftmr IS & niem féer 3

2. T Jt &9 9T I93-2.9. oy
(Summit) I35, gafeféar zrg
SERAA  agfiar (gaert.) 3
93 ¥ gl H.AL. e At
FERGST ¥ ¥ & yadd Fious
fesT |

Adt 3Es gE

(a) o=H 1

(b) o= 2

© 1nm3 2

d s 1n3 32

93 & wiedtar T IRt et qurg
STt AITfEsT dargny ¥ ¥AJ €9
@%‘?‘?é}?ﬂ%lm&'ﬁ‘ﬂ?ﬂ'm
ge

L W, Sfss, gafas o w3 I
T AT § Byt = dew 4
(Cotton-4) fagr wimr 3 |

2. ¥93 ¥ ®% w3 Befghey
GLICTE R T p—. o
W%%@éw@avé‘rjﬁ%ru

Her g |
(a) o=®% 1
(b) =H 1 w3 3
(c) 33?323?1'3’3
d 1,2n33
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61. The All India Trade Union Congress
w), the first pan-India trade
union recently completed 100 years.
Who among the following contributed
to the formation of AITUC.

% Lala Lajpat Rai
2.7 Bal Gangadhar Tilak)?
3. Joseph Baptista
/ N.M. Joshi
5. Diwan Chaman Lall
_ Choose the correct code :
Iy(aﬂ/bnly 1,4and5
(b) Only 1, 3 and 4
(¢) Only 1,3,4and 5
(d) & 2,3,4and 5
62. The International Maritime
Organisation (IMO) has recently
recognized @Mﬂaﬂgaﬁon

Satellite System (IRNSS) as a part
of World Wide Radio Navigation
System (WWRNS). Choose the
statement(s) among the following :

1. tndia has become the fourth

VS country in the world to have its
%w independent navigation satellite
system recognized by IMO.

2. /PRNSS provides both Standard
Positioning Service (SPS) and
Restricted Service (RS).

3.)0 IRNSS, like GLONASS and GPS
is a global navigation system.

(¢) Only2and3

(d) Only1,2and3

Paper |
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?

e fEShr s m?ﬂws JATH
(QWE}HFM ¥ g% gF 100 =9
HoHS ot T& | 2ottt &

fsa fes foors fes fom ot 32 71 |
1. &% FAY3 g2

2. 9% dlarug fawx

3. ¥AT Juferer

4. WSO, Gt

5. TS 9HS B

Adt &3 9E :

(a) dA=® 1,4 M35

(b) o<H 1,3 M3 4
() d<% 1,3,4M35
d 1,2,3,4mM35

1 ECES L | Pdterfen HIBS

e iE) 3 owm feg df oSt

gzdt  AFMdms  Guafs yEd

I EAE,)  § fenst

GEILSS &tdme yHu

(381%5@3&%@%%%) v fdm

= Aetarg ozt 3 1 fods fegr At

FEEG 92

1. 393 fepe o 9 @F ¥ g J
7 fx nret 6. e ARIfGS
F339 3 ygu JueEr J |
YRS AeT (AFATAH.) i3
frefaaes AT (MI.MH.) <7 3
HIET &9 T |
ysu J |

(a) o<® 1

(b) o=H 13 2

(c) =B 2 W= 3

d) JI=TH 1,233



63.

[})/1, 2 and 3

64.

M It has low Sulphﬁr content to

Paper |

The Bureau of Indjap Standards has

prepared a draft standard for the
supply of piped drinking water, named
as “Drinking Water Supply Quality
Management System-requirements for
piped drinking water supply service”.
Which of the following statements are
the key features of the draft ?

1. er treatment the drinking
water should conform to Indian
Standard (IS) 10500.

2./A.doption of District Metering
Area concept to control leakages.

3. —Water audit should be conducted
on quarterly basis.

Select the correct answer using the
code given below :

(a) Only1and?2
(b) Only 2 and 3
(¢) Only1and3

Winter Diesel 1s a specialized fuel

L

that was introduced by Indian Oil
Corporation. Choose

(a) It contains additives to maintain
lower viscosity so that it can be
used in temperatures as low as
—30°C.

(b)

It has lower cetane rating for
high performance of éngines.

ensure lesser deposition in

engines,

(d) _J¢is highly suitable for high
altitude and low-temperature
regions such as Ladakh, where
ordinary diesel' can  become
unusable.

63.

64.

the g 1ncorr%ct )
statement about Winter Diesa}— -
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d 1,273 3
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65. Hydropower sector cooperatio
flagship area of Indo-Bhutan

relations.

n is the

Choose the

statement(s) among the following W1 h
regard to India’s investment in the
hydropower sector in Bhutan :

hydroelectric

S}G/Mangdechhu
projecmver power

2. The Kholongchu project is a_first
Indo-Bhutan joint venture
hydroelectric  project to be
implemented by Kholongchu
Hydro Energy Limited.

3. The Chukha HEP, Kurichhu HEP
and Tala HEP are the
hydroelectric projects of Bilateral
Cooperation between India and
Bhutan.

(a) Onmly1

(b) Only 1 and 2

t}(;)/‘ Only 1 and 3
(d 1,2and3
66. Consider the following statements 66.
regarding Wation

Card’ scheme.

1. e scheme allows portability of
food security benefits for migrant
workers in other States.

9 Aadhar linkage of ration cards

f migrant workers ° is
mandatory for availing benefits
in other States. °
ich of the above statements is/are

correct”

Only 1
(b) Only 2
(¢) Both 1land2
(d) Neither 1 nor 2

(D-35)
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plant being built with Indian
assistance in central Bhutan.

bilat
correct |

D

65. %Wﬂﬁﬁmm_m%@w

HO & WY 39 ¥ | g9z enfd
g5 T Uz fawe 439 ¥ fsem =9
fo3 JIEE At U5 '

1.

(a)
(b)
(c)
(d)

Hasg Uz famet yiae, efonmet
g 3 "fenr Gemr ume I A
Jedt g6 9 393 & AEST
&% gEfen 7 fagr I
UBadE Yriae 93 M3 6 T
ufgst HEas wifgnms @8 US
et Unde I 7 UdadE UT
gam fosfies oo w'aﬁ-y
T | ‘ )
Jar »I g, sdig me A
w3 IH LA gEs w3
ges @ € Udt Afower € uE
fomdt yrdae 76 |

qeH 1

ATH 1 M3 2

qe% 1 M3 3

1,23 3

et fors aEst § 99 |

1.

i

Gl
(uFefafeet) € nifomr fder 3
et UITTH HAEd' € IHS TS
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T

893 Fuwt fed faga At I/95 9

(a)
(b)
(c)
(d)

qeH 1
A=TH 2
1m3 2%
S 1M A2



67.

68.

Paper |

it :
onsider the/fgllowmg statements :

li/ﬁﬁr“;ém\nt_ﬁg@ has been

uilt on River Ravi for connecting
Kasowal enclave in Punjab along
the India-Pakistan’ border. with
the rest of the country.

2. This 484-meter long bridge has
been built by Border Roads
Organisation (BRO) under the

Project Chetak.

Which of the above statements is/are

correct ?

Q/(«K)/ Only 1

(b) Only 2
(¢) Both1and?2
(d) Neither 1 nor 2

Consider the following statements
regarding Styrene gas leakage
from LG  Polymers Plant in

Vishakhapatnam, Andhra Pradesh :

lﬁene gas that is used in the
production of polystyrene plastics
and resins is normally stored as
liquid in factories.

2. ort exposure to Styrene gas
results in irritation of mucous
membrane and eye,
gastrointestinal effects and
inhalation problems and long

term exposure to the gas causes
damage to central nervous

system and fatality as well.

Which of the statements given above
is/are Sggpﬁ?,

(a) Only1
(b) Only 2

¢_(&» Both 1 and 2

(d) Neither 1 nor 2

67.

68.

(D-36)

fsyes aEst § feo ¢

1 gaStutRAsS HHT € 59 SaEt
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gg59 937 NIIeTERES
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83 fo fxgz™ aEs AT I/T5 7

(a) =& 1

(b) dA=H 2
() 1n3 22
d & 1MmM3 3 2
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J1 (.}YA.SA rogramme of Council of
Scientific and Industrial Research

(CSIR)is a/an

(a) National Programme to provide
Mentorship  and  Scholarship
suppO-rt to interested students for
pursuing study in Basic Sciences.

(b) Student-Scientist connect
programme wherein students
across the country are exposed to
science and technology.

(c). Iprovative programme to attract
young talent to the study of
science at an early age and to
build the required critical human
resource pool for strengthening
and expanding the Science and
Technology system and R & D
base. :

(d) New programme aimed to foster

>°scientiﬁc research on the effects
of yoga and meditation on
physical and mental health in
healthy people as well as in
patients with disorders.

70. Consider the following statements :

1. ‘Ajj Aakhaan Waris Shah Nu’
(Today I Invoke Waris Shah) is a
famous poem by the renowned
Punjabi writer Amrita Pritam
about the horrors of the partition
of the Punjab during the
Partition of India in 1947.

The poem is addressed to the
historic Punjabi poet ‘Waris
Shah’ who 1is considered as
‘Shakespeare of Punjab’ for his
literary work ‘Heer Ranjha’.

] f the above statements is/are
correct”

(a) Only 1

(b) Qnly 2
uAth 1and 2

(d) Neither 1 nor 2

%

69. fefomifea »3  Geufow  nigATs

70.

(D-37)

(b)

(c)

(d)

wrgg Bfbger wffust ffsH &
g9z f¥g 1947 & I8 AN JET
foraasT &3 Y afesT J |

Hg TET HE  UAE T
i’ foar Ater J |
@azf%é*maaﬁm?%/aﬁ?
(a) o<® 1
(b) o< 2
) 1m3 2
d) 3 1m3 &2



71. Consider the following statements :
l/V%rld Bank allocates votes for
member countries on the basis of
the share of bank’s capital stock

held by the member country.
2. India currently holds more than

5% of the voting power in the
World Bank.

Choose tHg incorrect Atatement(s) :

(a) Only 1=

Only 2
(c) Both1land2 >
(d) Neither 1 nor 2

Which of the statements given below is

P R e 8L
Coorrect D

(a) € Attorney General of India is
entitled to all the privileges that
are available to a Member of
Parliament.
The Attorney General of India is
a member of the Cabinet.
(c) The Attorney General of India is
appointed by the Chief Justice of
India.
He must be a person who is
qualified to be appointed as
Judge of a High Court.

Consider the following statements :

1.'/’1?’1{ Sixth Schedule has conferred
the District Councils the power to
constitute Village  Councils or
courts for the trial of cases

between ‘persons belonging to
Scheduled Tribes.

2. L/’Dl{é Sixth  Schedule has
recognised the power of the
District Councils to impose
certain specified taxes.

Which of the, statements given above
is/ar
(a) Only1

(b) Only 2
Both 1 and 2
(d) Neither 1 nor 2

72.

(b)

(d)

73.
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72.

73.
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(a)
(b)
(c)
(d)
fore aEs feu” fxgz AT T 7

(a) I3 T NI AGIS HHAE ©
gfeuret &t Urs9 J |

wegst A&I®% H3dT YtAe
AeRd Je7 T |

(c) "eIsl #69% § F9S T Wig
ARfer fogas J9e7 T |

feg g fenast g grdter T H

TE JI9e = ¥7 fogas dE ¥
War 9= |

1mM3 2%
BT1 NS S 2

(b)

(d)

fors aEst § fegs -
1. &< nigget fagr IfAst 3
igHTES FEfont ¥ &t ® niuHt

B ifufgs Joat T |

2. &< nigHdt Ay dfrst & g3
e@aaﬁmﬁaaaaﬁéfﬂasﬁs
Al 9t I |

B3 wue’ feg' fausT 7t /0w 2

(a) oA=H 1
(b) O=H 2
() 1n3 2gx
(d) & 1n3 a2
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74. Consider the following statements : 74, foHs JEat & fegrg -

1. l/M/cffel‘s concerning  Trade 1. FUT HS® ¥ HHS, Setifoa »i3

Unions, industrial
oY . and labour . _ .
disputes fall within the purview HAgd" Y safant @ HH AiST

of Concurrent list. Lﬁ@ E—tﬂ ERICRCERY 8T T |
2 The subject of welfare of labour 2. EE 3t & g , A E TH3,
1nclu.d1ng conditions of work, yEse &, afiprt wr wmrer
wd, workmen’s w3 AU ¥ w3 ¢ fen H:F{ El
compensation. and maternity feg AH® T8 . )
benefits are included in the State ' |
list. -~ g3 feg faaz aus At I/a5 7
Which of the above statements is/are (a) =S 1
(b) A=H 2

‘)af)/(')nlyl -
¢ 1mM3 2%

(b) Only 2
(A d 13 E 2
(¢) Both1and?2

(d) Neither 1 nor 2 . -
75. fors qEs’ 3 fe9'9 !

1 h respect to the ordinary Bill 1. 9w feusad’  (Legislature)
. 1 spect to the ordinary Bills atur
oNTdT UTH o3 AT9s famt p=p:poif

passed by the State Legislature, - -
the Governor is vested with a IUS A% wud AfoHst I o

75. Consider the following statements :

discretionary - power either to Fus 7 I feusaat enrd 5%
withhold his/her assent or return T frgras W fa® TUR 96
the Bill for _reconsideration by the St ot e 3
State Legislature. feufamat L

9. ¥dd 97 feusad’ (Legislature)

P2, a Bill passed by the State i .
Legislature, is derogatory to the oo JEtdde St RS hort ot
powers of the High Court, it is neHssT feg % um 3T Aer
compulsory .for the Governor to 3 ot gwus o feR R é
return the Bill. - o 3

i t ts is/are e
Which of the above statemen ey o B 1
correct / = !
(a) Only1 (a) o<1
(b) Only 2 (b) o= 2
¢ 1nm32%T

_{9-"Both 1 and 2

(d) Neither 1 nor 2

(d & 1MmM3 3 2

Paper | (D-39)
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76.

77.

78.

As per th _
Other Trag.t.scb—eﬁle_d Tribes and
1tional Forest Dwellers

2

20, who has the authority to initiate
dprocess for determining the nature

and extent of individual or family

rights ? -

o8 State Triba] Department
(b)  Gram Sabha

(¢c) Block Development Officer
(d) Gram Panchayat

Whic.h. of the following is a

provision of the Representation of the

People Act, 1950 2

( ualifications and
disqualifications for membership
of Parliament and State
Legislatures

(b)  Allocation of seats in the House of
the People, the State Legislative
Assemblies and the State
Legislative Councils

(c) Delimitation of Parliamentary,
Assembly Constituencies

(d) Local authorities for purposes of
election§ to the State Legislative
Councils

Which of the following categories of

borrowers are eligible for taking the

benefit of Priority Sec i

under the Weaker Sections Category ?

1. —Small and Marginal Farmers

2. —Self-Help Groups

3. Beneficiaries of Differential Rate
of Interest (DRI) scheme

4. Distressed farmers indebted to
non-institutional lenders

5. Minority Communities as notified

Select the correct answer from the

choices below :

(a) Only1and?2

(b) Only1,2and3

(¢) Only 2, 3 and 559

( 1,2 3,4and 5

L >

(Recognition 5 orest Rights) Act,

N

76. wigAfes wEd »3 J9 Yy N

77.

78.

MaE, 2006 MBS TR & feniast w7

ufgerg & wiftarat O yfxast W3 mhyr
3 fovufas wws & yfaor = wrdy
I35 = niftrarg T 2

(a) Wa&ﬂwﬁ%’ﬂ

(b) IH AT

() =& fTIH neAg

@ i derfes

fors feg faozr ax & ySifeuz
I, 1950 T Yr=UTS &t T 7
(a) AAT M3 JIA feusAs=

et
b) ¥ A, I feus AT w3
ufgre €t Aiet e fagugs

(0 HAE® ™3 9w fegs myr o
ISfamit € Je gdt

@ 7 feus ufgme i st @
8eH BE FEsx niftardtars

fed" yefim 39 @ Gue (uerfesdt

Azs Bfdan) & 2ot fem aas

T9q s fxaF u=esT S 9 7

1. 82 3 IS fars

2.  AR-AUTEST Iy

3. 4 U3 fenrmeg (fsedfwms 3

nire f€eIHe) Felty ® waursdt
4. Hegw fors & J9-AAga=
8uS T Tfenit T IIAEt Un
5. nifuRfes Wz fa=st mefe
(a) OTH 13 2
(b) A=H 1,2 n3 3
(c) O=TH 2,3mM35

(d 1,2,3,4n3 5
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79. ngc& .out. of the following sets of | 79.
IndUSLIles 18 moy/a part of the eight
core industriesin India ?

(a) Coal, crude oil and natural gas

(b) (Sjteel, cement and electricity

(c) Coal, natural gas and refinery
products

ﬂ Mining, metallurgical operations
and pharmaceuticals

g0. Which out (?f the following has 80
been ca!:egorlsed as a Domestic "
Systematically =~ Important  Bank
(D-SIB), as per the recent report the
RBI?

ICICI Bank

(b) Punjab National Bank

(c) Axis Bank

(d) Kotak Mahindra Barnk

81. Which among the following i
with respect to Payment Banks and
Small Finance Banks in India ? -
(a) Payments Banks can accept )

deposits but have to keep the
customer balance below one lakh
rupees, whereas there is no such
restrictiow the Small Finance
Banks.

" (b) Payments Banks cannot give
loans or issue credit cards
whereas Small Finance Banks
can. '/m

(¢) Mobile Companies and
Supermarket Chains owned and
controlled by residents are
allowed to become eligible
promoters for Payments Banks
but this is not true for Small
Finance Banks.

(d)* Payments Banks cannot sell
mutual funds, insurance and
pension funds but Small Finance
Banks can.

Paper | (D-41)
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82. Consider the fo
N on-Perforrning
classification
descriptions -

1. §£t_>it§.nda.nd assets Assets
whl'ch have remained NPAs for a
period less than or equal to
12 months.

D01'1btf111 assets Assets
which have remained in the

substandard category for a period
of 12 months. )

3.\/11258__a§s_efs : Assets which are

considered uncollectible and of
such little value that their
continuance as a bankable asset
is not warranted, although there
may be some salvage or recovery
value. ,

Which out of the above pairings are

correct ?

a) Only1and?2

(b) Only 2 and 3

(¢) Only1ands3

b)(”/l’ 2 and 3

83. Which among the following is the
objective of the Cheque Truncation
System (CTS) introduced by the RBI ?

To reduce the flow of cheques in
circulation by replacing cheques

_ Assets (NPA)
In  India with their

with digital financial
transactions.
(b) o discontinue the flow of

physical cheques in the clearing
process by transferring an
electronic image of the cheque
with essential MICR data.
(e)ngTo establish an  electronic
database that ~ helps in the
suspension of the circulation of
those cheques that do not have
the correct vital details.
(d) To build capacity to enable
>o interbank payments online and
facilitate Corporate customer

payments.

Paper |

g2, 393 feg AI-Y=IAK THC (OAS.AdtE

T fors det & Ggf ¥ I9fef mfeg

fega

L. wow me @ 8 69 e
12 HdtE AF B8R 3 Ue AR
MEUTE. 9T IE |

9. Heduyds BHC : H THC 12 W3
S niwy Yug @94 feg 99 IT |

3. we T§ gAc : €U THe #

garargE Gar 5 a5 M3 &t we
Tz € I5 & gIRTdr BHe ®©
33 3 ad° ¥Y AT A I fEaf
ot g% Gagrdt I3 T A T |

83 det fed fagar AT T 7

(a)
(b)
(c)
(d)

A= 1 M3 2
JTH 2 M3 3
qeB 1 M3 3
1,203 3

83. foHs feg' wra.dtnrst. onrgr fente
e I ZIHS Ygu (AL, =
Ber ot T 2

(a)

(b)

(c)

(d)

(D-42)

I Ot gt feles 25t sgos
fonr & 9 T wHE & ge39
WeRET |

799t fHag (MICR) 292 =& It
T f9 '

A,



84' Wthh out Of t.h

India, run by s Pared ATMs in

e .
Corporation of Indj,::I ‘? o] Payments

(a) Nationa] Financia] Syste
| m
National Financia] Switch

(¢) National

Electroni
System e

Financial

(d) National Payment System

85.

g85. Credit Rating Agencies in India are

regulated by which of the followin

entities ? ¢

(a) Ministry of Corporate Affairs

H‘{Ministry of Finance
(¢) Securities and Exchange Board of
India (SEBI)

(d) Reserve Bank of India 86.

86 f the following statements is

It stands for Trade Related
Discounting System.

W@ is an initiative of the Reserve

Bank of India.

(Vts aim is to help cash-starved

micro, small and medium
enterprises (MSMEs) promptly
encash receivables.

(d) It is an online bill discounting

" platform that enables discounting
of invoices/bills of exchanges of
MSME sellers against large
corporates, including Government
departments and PSEs through
an auction mechanism  at
competitive market rates.

Paperl (D—43)
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fors fed" 393 & grHedt werfeat
TIUIHE AT FHfen Hier 93 &1
AZ 3 I3 TIAMNT. T FIST 39S
IEGEMRIN;

(a) THeT &S yby

(b) THST RSt wivg

() THeSt fedaeafox fedt ydu

(d) IHSH niefedt ydy

(regulated) I5 ?

(a) BEURE HHS HETwH

(b) f&3H3I™w

(¢) RAIEITT M3 MameH 8§95 mMe
feshr (SEBI)

(@ 393t forgee ¥

Zt.na ST MH. (TReDS) ¥ FeU g

fors agat feg faozT I®s 3 2

@ fTr =T 3I=* =ug {3
ferar@féar ygu 7 |

(b) feg 393 ¢ fogde 8 = Guas
J 1

¢ fem = foger Ut ®Et 7gI=e

L RZER TR R W) )
HieEwy @ Aee wietedt feu
HEe JI&T I |

@ feg fea we-wEs 0

getiar far feg FAIaASt wEY
H® d6 (it ETmn.) aa3
& femegféar  stondl I
Hafse Jet 3 qaee J |
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87. M registered  with  the
Department of Industrial Policy and
Promotion of the Government of India

are exempted from the payment of the
: ;___J:Angel’lbx”:ith conditions. This tax
o

(g) 2 Pax ble on capital raised by
newlisted start-up companies via
Issuuance of shares where the

S - -
share price~is seen in excess of
fair market value of shares sold.

(b) e tax that start-ups were
supposed to pay if they receive a
loan at a discunted rate .of

interest because of higher.success
ratio. -

(¢) Tax payable on capital raised by
Pcompanies Vi_a issuance
of shares where the share price is
seen in excess of fair market
value of shares sold.

(d)  The tax that start-ups were
supposed to pay when their
annual income would cross the
specified threshold as per their
fair market valuation.

‘Usual  Principal Status’, ‘Usual
Subsidiary  Status’ and ‘Usual
Principal and Subsidiary  Status’
approaches are wused in the
measurement of

(a) GDP

(b)  Unemployment
(c) Inflation

[/@)/ Services Sector Growth Rate

g7. I93 AIXT o GEwd SEIRCESRIE It

88.

(D-a4)

11 roc 21 L oY
gt (Fe9em) § 5 A
ts @ w9 @ wefedt I oge
%lf‘ga-a'aﬁagaﬁ?'r%

(a) B foAfes Jqust  Enrg
Tt 3 AnEt &% fEsst it
A3 39 I AnE € A A
StHZ &% T0 TuE g THeeEt J |

(b) 7 I ATIC-»Ut g TE FEET I
AAS fend ©9 3 a9 yus
IIe TS |

(© niEfeRfes Sudtot womgr At
ﬁmmﬁa’ﬁaﬂé‘raﬁ
30T a9 I 8 Anig & stz
W I o T At wrg o
o8 0 T $ it I |

(d) Fe9E »iy eorgr ¥zt 39 T
85" & FesT nmres st 2 et
HBIE ngHg



89. India has beep cons

for an expansiop tantly negotiating | g9. I9s HF 4 I Fer ¥ Tug (233 B
services via Mode 4111 the trade in

the General A as defined under ) = TR, gt

Services  (GATg) oy O Trade in ufgsrfiss sltsr famr 3, & fergra wet

following pammee— Consider  the wWEY AR w9 fgor ¥ |
18s Tegarding different

modes of Serviceg under GATS of th BHFMQ.Z"T.@ T fEdam. v
WTO : o the fefds Aot ¥ fefds st @ det 8

1. Mode 1: Cross-B feord

. Order Supply Of
Services 1. WS 1 : Aeet & g939 ud
2. l\n/{gs: 2 : Temporary cross-border e
consurrr;lin;egf, iienatglral person to 9. H3 2 JEI3t fonast <t feen
N § abroad ot Fe=t & wuz Bt nmeet
3. ofOC;ee 3_ : erss-border provision gd3d U'd EIBOFH"\WBT
rvices via th . - o -
Fesende of © eommercial 3. Wz 3:fan J9 o7 feg SQual <t
p a company in another - . .
country U9E Hgedit It ARt =
4. Mode 4 : Temporary cross-border - oI _
movement of service provider. 4. A3 4 AT yEs oI @
Which of the above are %rrectli > g959 YT MAEI e
paired ? g3 fed” faoz de At J 7
(a) Only 1and4 (a) OB 1 M3 4
(b) Only 2 and 3 (b) A=TH 2 M3 3
(¢) Only1,3and4 () =B 1,3M3 4
All of the above (d €a3 A9

90. Which among the following are sources | g9, fxyg feg° dedt AIAd B dd o9
of non-tax revenue_receipts for the

Union Government ? THES Yrust gtet € 733 fora= g5 7

1. Disinvestment Receiptst—" 1. fefsem ynust grtet

2.  Spectrum Fees ¢t~ 2. FAUACIH EH

3. Dividends from Public Sector 3. WISt wETfont (PSUs) 3 Y3
Undertakings “~ \ECIEE

4. Interest Received on Loans given 4. HIST oad 93 g9 3 yus

by the Government farmma
Choose thed answer from the fore o3 feamut feg' ola €39 92 -

choices given below :

(a) d<H 3 N3 4
(a) Only 3 and 4 (:) i
(b) Only 3
(¢) Only2,3and4 (c) g 2, E” ER
(_Ad) All of the above (d) 83 A9

Paper | (D -45)



91.

Consider the following statements with

respect to Consumer Price Index and

Vﬂlﬂlﬁ:&%m India :
1. Q_/The”WPI Is calculated for only

goods and CPI is calculated for
both goods and services.

2. The WPI is published by the
Office of the Economic Advisor in

the Ministry of Commerce and

Industry while the CPI is
published by the Central

Statistical Office,

3?<7 The WPI is published on a weekly
basis for primary articles and fuel
and power and is published
monthly for the rest of the items,
whereas the CPI is released on a

monthly basis.

4. The WPI measures inflation in
the initial stages of the supply
chain whereas the CPI measures
inflation in the later stages of the

supply chain.

above

Which

statements areCorrect

among the given

(a) Only1,2and3

(b) Only1, 3and4

t/(c')/Only 1,2 and 4

Paper |

(d) All of the above

91.
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g3 feg "Wusad AHI HEX (CPy

w3 JHAG oS FIN (WPD it

1. SEEEUTYrE. ae® THINT BE
sfenmAlfis 3T AT I ow
ot T3 m3 ARt S
et dfenmlfiys AT §

2. sufsgatnret. @en w3 St
H3g®H € »efad  ASIIg
¥e39 & YAMHI oAI3T Aer I
Ao fa Aratorst. edt nise
J=&T ¥E39d (CSO) =¥ YAz
3T AT T |

3. sEEQUAE. Wi THget w3
TBE »3 QoA T gesedt
"Mg 3 YITH3 3T 7w I »ig
Sl ggEMT THZT BEt Hdtererdt
yarfys dur ¥ e fx Attt
Hdte=gt At otz i 3 |
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92. Commiss-i()n for

and Prices (C Aé&ﬁ%@
~recommendation fo) submits its
r

MSPs of

agricultural commodities i, form of

Price Policy Reports
Consider the following statement
-1

L/Sﬁ]i is a statptolry body formed
Commission Act?lisg;e

2. (Cﬁ'rently MSP ;

Price

>P 1s devoid
lsegal backing exceptof at{:)};'
ugarcane to some extent.

3. /%efore submitti i
ng Price Poli
eport for any crop, CACP Oaig

analyses demand and

. _ suppl

the 1mp11c‘ations . of I\I/)Igg largg
consumers of that product along
with the costs of production.

Which e followin
: é “ii:g i‘h; i
is/are (pcorrect ? ng statements

(a) Only1
(b) Only 1and3
(¢c) Only1,2and3

[/ch/ None of the above

93. Some suggest that India needs to

move to an escrow-based payment
mechanism to ensure a fearless
“business environment in the co
Which of the following orrectl
describes an escrow account ?

(a) A third-party bank account for
safeguarding the buyer from the
risk of seller defaulting on the
quality of goods and services.

(b))QA bank account used by
individuals/firms for routing the
funds through tax havens for the

purposg of tax evasion.

(c) L ird-party bank account for
safeguarding the seller from the
risk of the buyer defaulting on
the payment to the seller after
having received the goods and/or
services.

(d) None of the above

g2. FFEF HITT wF W3 AHAS

93.

(D-47)

PEAE®Ed JHe w3 ugTeiAd

afs) (REFaR) dFeEt err

ST AR, @ frafar ohg atst

foude @ U feg a9er T |

foHs aEst § fegrg

1. FEAA., aFeEst JHS
afHAs wae, 1962 3fa3z f&d
IEST FRET J |

9. fem AR miaFA. g3 JE 39
5 & @8 & fom yad ® A@A
AHIES T 293 T | i

3 fon & 2Fs & aH3 gt foude
Tyt F98T 3 ufae, .2 At
gzue & FIAI € FTE OO
Gzue & ¥ 3 muEEr i3
qU3AT 3 MR € yset T

fer®HE < F9T J |
fggzT JEG THB3 I/T5 7
(a) I=TB 1
(b) dA=H 173 3
(¢) B 1,23 3
@ Bz feg agt & adh

(b) fowdlaE/@ant g d9 3
qos FE ad-Jest 9t fenie
AF wet =afznr AE T U3T |

(¢) HdleEd eI S AR
YUz 96 guds feamz 3§



94.

L}cf Only 1, 2 and 3

95.

A& E-Nam portal : Agriculture

The Mineral Laws (Amendme i

2020  has recently been passed.
Consider the following regarding the
Same :

1. ._With the introduction of this Bill,
companies which do not have any
prior coal mining experience in
India can also participate in the
auction of coal blocks.

2.  Private Companies will now be
able to undertake coal mining for

commercial mining purposes,
thereby ending the captive
end-use criteria.

3. composite license namely

Prospecting Licence-Cum-Mining
Lease has been introduced in the
Bill.

4. %The revenue sharing model
detailed in the Bill is based on
recommendations of an expert
committee headed by Injeti
Srinivas. .

Which of the above ar

(a) Only 2 and 3
(b) Only 1and 3

(d) Only 2, 3 and 4

Consider the following pairings of the

names of Government initi 1s | 95.

and the area/industry with which they
are associated :

1. Sambandh : MSME
2. Prakash Porta] - Coal Industry

(3~ Government e-Marketplace - For
Procurement of goods by the
Government

Which out of the aboye arg corredtly)

paired ?

(a) Only 3 and 4
(b) Only 2, 3 and 4
(c) Only1,3and 4

C/(d%‘ All of the above

Paper |

fa) = 2020
ads AU 8, 7 0
94. TH&I®

(D-4g)

>,

ozt famr 3 1 fem =9

Bt 393 feg S©F nigsST &9t
Rt B & moar & fond
fog fifT B HaSIAT |

aufes &3 @?WW?
iz wEfeefl  yElRe st
g Hfefdar 9 AxEIhAT |

3. fazrsn oo fit '
foniter far I |

y™H

(a) Jd=W®2m3I 3
(b) = 1 w3 3
) ATH1,2m3 3
d) =% 2,3 mI 4



 Consider the following statements with | 96. fs90s  fS7<l  HOA (WTAUTC
respect to the _Export Preparedness uFimEsdH fEsam), 2020 ok

dex, 2020 - . -
M a5t 3 fe9d

was 1
‘1_/“‘/ published by the NITI L fer ?5 35 e 3 a-_n_gr =t

Aayog in partnership with the

Institute of Competitivencss HAGT (Institute of
. ) Competitiveness) o FreteTH

3/ It exam-mes the export ecosystem &% YITH3 CIENRIIN

of Indian States and Union

Territories. “ 0. fEg 393 IW w3 e HHS
3. licy, Business Ecosystem, L{é‘HT Ny -

Export Ecosystem and Export eI B i

Performance are the four pillars 3. aE, |ud feafarer, foaus

of the Export Preparedness feafreH w=z feaaus Y<IHS,

Index. Wé%ﬂﬂﬁéaﬂaém
4. Gujarat emerged as the 7338 I6 |

*/top performing State in the
‘Coastal States’ category, followed . =

by Kerala and Tamil Nadu.

5. In the category of ‘Landlocked 2 fUg Gow i3 srfhmeg |
States’, Madhya Pradesh is the 5. ‘gt IAT 3 =ga few WU
best performing State. Among 11-%'):[ 83 YEIHE T o 3
‘Himalayan States’ and ‘City- Engr w3 - S i
States’, Himachal Pradesh and gre le? O —
Delhi are the top performing ey .ngg |

States respectively.
Which of the above statements are 3
@ (a) oA=B 1,23 3

Only 1, 2 and 3
l/‘é(ny a b) F=H 2,435
(b) Only 2,4 and 5

14 Only 2, 3 and 4

(d) Only1,4and5

() o=HB 2,3 M3 4

d) o=H 1,435

Paper | (D-49)



97.

98.

According to the World Bank’s

@ssiﬁcation of economies into_income
groups (on the basis of GNI per capita
using the Atlas method exchange
rates) for the 222_0 — 2021 fiscal year,
India falls in which of the four incomes
groups described below ?

(a) Low Income Country
L\}b)/ Lower-Middle Income Country
(¢) Upper-Middle Income Country

(d) High Income Country

Consider the following products :
1. Phulkari

2. Katarni Rice

3.  Sirsi Supari
4. Chanderi
As of now, Punjab has the

Geographical Indicator (GI) tag for
which of the above products ?

(a) Only 1

t_{b7 Only 1 and 2

Paper |

() Only1,2and4

(d) Only1and 3

——

98.

(D-50)

—oqi fog Tadiads € (NCEH YT

ST 32t § eastent Y3 fenest

AR, & opad 3) NEFS

2020 — 2021 feSt A e, fovs

agH® g9 »HEes 9T feg F93 fan

feg w8er I ?

(a) ufz nHes ©H (Low Income
Country)

(b) ule-fegag MTHES eF
(Lower-Middle Income Country)

(c) Bg-fegag mHEs ©F
(Upper-Middle Income Country)

(d) T n™HE& ¥H (High Income
Country)

feres 83uret & feurs -

1. gsaar

2. IS IS

3. Tt murit

4 FR

(a)
(b)
(c)
(d)



99. Mesothelioma is a malignant tumour | 99, HHEIHEH f&x ST = fe@ua I

that is caused by fr T 9SS D

1. Cadmium L A

2.  Arsenic o =

3. Asbestos g S

4. Lead . B

Select the correct answer using the .
code given below : ma?-‘ﬁmﬂﬁ%@ :
(a) Only 2 (a) =S 2

(b) Only1and4 (b) O=H 1 N3 4

() Only 2 and 3 (c) O=H 23 3

Wnly 3 (d) o=<% 3

=N la) . N
100. Three-way catalytic converter is used | 100 gi-< defeed aaedes T’ feg fan

in vehicles to reduce § weBE Bt I3 7Y IS |
1. Unburnt Hydrocarbon 1. MEA® Ifesdadas
2. Carbon Monoxide 2. 995 HEWMTSTATES
3.  Nitric Oxide 3. &feefgq wiarsts
4.  Sulphur dioxide 4. ST STovIAEE
Select the correct answer using the fors 3t £ =gzfont Bt 839 95 -
code given below : = = =
(a) Only1,2, and 3 (a) &<® 1,273 3
(b) Only 1, 3 and 4 (b) &= 1,3 nf3 4
(¢) Only 2, 3and 4 A () o=®2,3m3 4
(d¥Only 3 and 4 d) =B 3INI 4

(D-51)
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